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Learning Outcome 3:  Technology, Society and the Environment
The learner will be able to demonstrate an understanding of the interrelationships between science, technology, society and the environment.
Assessment Standards
We know this when the learner

3 Bias in Technology
3.1 Expresses an opinion that explains how certain groups of society might be favoured or disadvantaged by given products of technology.
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Assessment Task 

Bias against the disadvantaged

	For years the members of a rural community had waited for RDP houses to be built after they had been relocated from their ancestral lands to make way for an industrial development.  Mrs Gertrude Mthembu was devastated when her new house was destroyed after only six months.  

“Sorry folks,” was all that the contractor said when on December 31, 17 houses that he had built collapsed during a thunderstorm – injuring residents, smashing possessions and leaving at least 100 people homeless.  He admitted that he knew the houses were unstable, but complained that the Department of Housing had allocated too little money for him to make a decent profit.

The reasons for the houses collapsing were:

· Only 5 bags of cement instead of the required 14.  There was insufficient strength.
· Only 1 strand of supporting wire used in the walls instead of the required 4.  There was insufficient rigidity.

Some walls were built with bricks laid directly on top of one another instead of overlapping.  They were not stable.


1.
Who was benefiting at whose expense? 





[2 marks]
2.
What moral values are being demonstrated here?




[2 marks] 

3.
What social implications are there for this community? 



[2 marks]
4.
Why do you think that this man got the contract to build the houses from the government when he was not even a builder? 






[2 marks]
5.
What do the words nepotism and cronyism mean?  If you are not sure, find out. 
[4 marks]
6.
Look at the three words in bold and match them with the correct meaning:

[3 marks]
· Does not fall over –

· Does not break –

· Does not bend –

 [15 marks]

Suggested Solutions 

	Question number
	Possible marks
	Answers

	1
	2 marks
	The contractor, at the expense of the poor. 

	2
	2 mark
	Self-centered greed with no feelings for others less fortunate.

	3
	2 marks
	Frustration, anger and feelings of hopelessness.

	4
	2 marks
	Probably nepotism or bribe.

	5
	4 marks
	Nepotism – favour from relative; cronyism – favour to close friend

	6
	3 marks
	Does not fall over – stable; 

does not break- strong; 

does not bend – rigid.


[15 marks]
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